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2. o 199 0ABCD & AD // BC Q1 SHAtt E|&Eolth. AH = 9cm,
AD = 1lecm , CH = 14cm € @, DABCD 2] Y o] & F#5}ofg},

_-1lemo _

>
> ®ehl 126 cm?

BH =HC-AD = 14 - 11 = 3(cm)
BC=3+14=17(cm)

(o) = (11 + 17) x 9 x % = 126(cm?)
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th& 7389 gpABCD & H3AH o)1
/ABC = 70°, AD = DF = 4cm & o,
(AEB 9] 7|5 Fotoet.

>
> ®™eh: 55°

B ~

AD=DF o]E&

/DAF = /DFA

AD//BC 0|22

(DFA = /BAE(%Z}), /DAF = /AEB(%7})
. /AEB = (180° - 70°) + 2 = 55°
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> ®eh: 150°

B ,
49 dize] 2717F A4 2 *}4’%‘% HeApag ot
wt2bA] za = 120°, AD //BC©]1l, /ADB ¢} /CDA+ S1Z}o]
o= /p=30°°|tt.

" La+ b =150°




ACSIo| AE = CF 7t H=2 4 E,F 2
%2 ), BE 9 22 Lol g 7HAk ¥e?

®a8 @BF @) @®FC ©AD

AABE , ACDF °9]|A4 AB = DC , AE = FC , /BAE = /FCD
olB 2 SAS g-5oltt.
w2tx] EB = FD o]t}




o2 Tl A AT ABCD 9] F o
ZHA el w3 O & A= 240 AB, CD ¢}
b= A2 P, Q 2hal o o, Mgk BEo]
Ho]7} 12em? ©]H oABCD 9] Ho]&?

@ 40cm? @ 44cm? 3)48cm?

@ 52cm? ® 56cm?

~&B

AAPO = ACQO (ASA 3H5)
AOCD = A0DQ + AOAP = 12 (cm?)

A0CD = ;ll:lABCD ojlm=z

(DABCD9] Hl©o]) = 12 x 4 = 48 (cm?)




A D
B C
@ 3cm? @ 4cm? ® 6cm?
@ 8cm? ®)10cm?

~&B

) 1
HEo] 3t H pof thsto 5DABCD = APAB + APCD =

APAD + APBCOo|EZ

APAD + APBC = % x 20 = 10(cm?)




o5 TR A2 SHAbTEECl A AB = A D
AD, /BDC = 90° & ™, «C ¢ 27]& + W\
shofet, B C
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>
|> pal= 602

oHd =

B

1ol 4e} o] AB = AD o2 A
/ABD = /ADB ©¢]Z, /ADB = /DBC
(371 )

J2)n SaATelge|ng £ Rt
717t Eoevg /ABC = /DCB
u2kA] 36 =90°, e =30° O|E& /C =60°




10. o2 239 A2 ABCD oA AD//BC ©]1l, AABC 2] |ol7t
20cm? ©]1, ABEC ©] H©]7} 10ecm? & uj, ADEC 9] {o|& L6}
2},

A D

Uro] sty LAy PPt A d72| 9] At goeBg
AABC 9] 0]} ADBC 9] Jol= 523}t

ADBC = 20cm?

.. ADEC = ADBC - ABEC = 20 - 10 = 10(cm?)




11. o 3804 & A4ZHE V- ABC &t V' - A’'B'C' & F2 Tt
AB = 4cm ,VC =12cm , A’B’ = 6cm ,/ACB = 52° & o], V'C’ 9]
Zol%t LA OB ©] 27)5 HHEA FolE 22
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12cm
|
C ’ __vL_ C/
4cm \
B 6cm f
@ 16cm, 50° @ 16cm, 52° ® 17cm, 52°
@ 18cm, 50° (@)ISCm, 52°

B ‘
AB:A'B'=VC:V'C

4:6=12:V'C

4AV'C’ =172, V'O’ = 18(cm)

(A’C'B’ = LACB = 52°




12. o5 ™A x 9 gh2?

A
dem /[,
D' 5‘cm
\ /I
3cm E
rem
/
“~6em- " C
1 3 5
® 3 @ 3 ® 3 @3 ® 4
AABC ¢} AAED 94 /A & 35,

/ACB = /ADE = 90° 0|22
AABC @ AAED (AA H5)
AC:AD =BC:ED
(54+x):4=6:3
3b+x)=24

O+x=28 Sox=3




13. o2 194 BC//DE € W, x +y o] 3t2?

8:x=12:9 Sox=6
8:4=y:3 S y=6
L x+y=6+6=12




14. g 199 AABC °]A BC//DE ©|1 PE = 6cm, BQ
5cm, QC = 15cm ¥ ), DP ¢] Zo]&?

@QCm @ 3cm ® 4cm @ 5cm ® 6cm

~&B

BC//DE °|2& AAPE @ AAQC
2:5=AP: AQ ---O,

BC //DE ©|2& aADP o AABQ
DP = x5}

AP: AQ=x:5---©O
0N 2 : 5=x:5,5x=10

Lx=2




15. o2 2HA AD & /A 9] o] 5EAo|tt, AABD 9] Hol+& 12cm?
o|t}. AABC 9] Ho]&?

@ 25cm? @2)30cm? @ 40cm?
@ 45cm? ® ?ch

BD:DC=4:6=2:3°22 AABD : AADC =2:3
12: AADC=2:3

AADC = 18cm?

. AABC = 12 + 18 = 30(cm?)




16. 4179 ABCD oA x 2] 20|15 Falolat,
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AABF = ACDE(RHS ¥&5%5)0o|22
BF = ED
gt AE=CE=10-2=28

SLox=38




ol
™
o|J

Njo

ol

__O.._
ol
bo

oju
™
)

2t

q

7L

oAM=

A EE

O

o/




18. o2 134 AABC 9} ACBD 7} 2 &=
Fd o, BC 9] 4o]& Fstolet,

iy

\VARR 4
0x
L

~&B ‘

AABC & ACBD
AB:CB=BC:BD
16:BC=BC:4

BC =64

. BC=8cm (- BC > 0)




19. the H7H7FE ABC oA ADLBC < . A
x 9] 2ke9

@D 12cm @ 13cm ® 14cm

@)15cm ® 16cm

AABC 9 ADAC |4 /CE 35011, /BAC = /ADC °|E&
AABC @0 ADAC (AA =i 1::)

AB:DA=20:12=5:3

AB:DA =AC:DC 0|22

5:3=x:9

m2hA] x = 15cm o]t
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20. o5 192 3449 ABC O BAH A VLB
1 1

2 Aolty. BE=38, CF =10, DB =16 ¢ d, x ¢] 3t2?

o

® 16 @ 18 3)20 @ 22 ® 23

B ~
(DEF = /DAF = 60°

(BDE + /BED = 120°

(BED + /FEC = 120°

/BDE = /FEC ---Q

/B=/,C ---©

@, ©°l 93] ABDE 2 ACEF (AA B-3)
BD:CE=BE:CF& 16:x=28:10

x=20




